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PI1}=60[psia]

“T{1]=600[F]
hj1]=Enthalpy(steam_iapws, T=T[1], P=P[1])
Vei[1] = 10fit/s]

Pl21=14.7]psial

T{2]=500{F}

h[2J=Enthalpy(steam_japws, T=T{2],P=P[2])

gc=32 2[lbm-ft/(ibf-s2}]

Vel[2] = Sgrt{2*gc™(h[1]-h[2])*convert(btu, ft-ibf) + Vel[1]"2)

SOLUTION
Unit Settings: Eng F psia mass deg
gc =322 [lom-ft/(ibf-s%)]

No unit problems were detected.

Arrays Table: Main

h, P, T, Vel,
[Btu/ibm] [psiz] {F1 [ft/s]
1 1332 80 600 10

2 1287 147 500 1499
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- P[1]=80[psia}

T[1]=600[F]
h1I=Enthalpy(steam_iapws, T=T[1], P=P[1])
Velft] = 100fft/s]

P[2]=14.7[psia]

T[2]=500]F]

h[2}=Enthaipy{steam_japws, T=T[2],P=P{2])
gc=32.2[Ibm-fif{lbf-s"2)]

Vel[2] = Sqgrt(2*gc*(h[1]-h{2])*convert(btu, ft-bf) + Vel[1]"2)

SOLUTION
Unit Settings: Eng F psia mass deg
gc = 32.2 [om-t/(Ibf-s)]

No unit problems were detected.

Arrays Table: Main

hy P, T, Vel,
Btulom}  fpsial  [F]  [fts]
1 1332 80 800 100

2 1287 4.7 800 1503
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P[1]=80[psia]
T[1}=600[F]

h[‘l} Enthalpy(steam_iapws, T=T[1], P=P[1])
Vel[1] = 500(ft/s]

PI2]=14.7psia]

T[2]=500[F]

hi2]=Enthalpy(steam_iapws, T=T[2],P=P[2])
gc=32.2[lbm-ft/(Ibf-s2}]

Vei[2] = Sart(2*gc*(h[1]-h[2])*convert(btu,ft-Ibf) + Vel[1]42)

SOLUTION
Unit Settings: Eng F psia mass deg
gc = 32.2 [lbm-fi/(lbf-s?)]

No unit problems were detected.

Arrays Table: Main

h; P, T Vel
{Btu/lbm) [psia} [F] [it/s]
1 1332 60 600 500

2 1287 147 5600 1580
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P1]=60[psia]

T[1}=600[F] :
h[1i=Enthalpy{sieam_iapws, T=T[1], P=P[1]}
Veli1] = 1000[ft/s]

P[2}=14.7]psia]

T2i=500[F]

h[2]=Enthalpy(steam_iapws, T=T{2],P=P{2])
ge=32.2[Ibm-ft/(ibf-s"2)]

Vel[2] = Sgri(2*ge*(h[1}-h[2]*convert(btu, fi-ibf) + Vel[1}*2)

SOLUTION
Unit Settings: Eng F psia mass deg
ge = 32.2 [lom-ft/(Ibf-s%)]

No unit problems were detected.

Arrays Table: Main

n, P, T, Vel,
[Btu/flbm] [psial [F] [&/s)
1 1332 60 8600 1000

1287 147 500 1802



